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Say it is Rabi Yehudoh - 777970 929 NIOR

Overview

In some texts it reads, A% 7Y IR A" ,ATE M 2127 2PNV PRVIA PRI D1 THYIN
o°p°nya. The X ) answered that there is no contradiction to 27 because we are not
P NYA AR TRV MR A" 01, but rather 2P nYa AX 7RYI MR ", Our NvOIN
derives from this that the X07°) mentioned above is incorrect.

- 7115 529 5927 PPINYA PIIIN PN 223 DIYY 19509 RYT ¥1IWN NN
It is apparent from the answer here (that >"9 &2°X) that previously the text does

not read '77737° ' 9727 PPRPONYA 9P PR’ (the words °™ 727 should be omitted) -
$19901 PNN DN 13%29 DN HIYI RNND INT NIN 17I90N 91299139 150 M1 NYD ©9) INT

For if the text reads > *127, the X713 should have answered; ‘reverse’ the names
of the o°Rin; so certainly the first view (of 2°p°nya Py X) was taught
anonymously (without mentioning °"7), and the n''9 also erased it from his text.

Summary
We are not 07 here "1 °127.

Thinking it over

Seemingly n19010 could have brought an additional proof that we are not 07 that
2" 5927 PR YA POVIN PR, for then it would turn out that >"1 maintains that since one
will inevitably have 1817 from the nymin, therefore there is no 12y (even by *»w
7ow91), so why does he maintain in the 72wn that one who is w7pn with 72372 mind
M3, she is NWTPn because the money goes out to P (there is 79°vn), but by the
71372 MIN3 it is also inevitable that they will derive benefit from them. What is the
difference between owor 1w, where 12911 1°X and 717 >732 where there is 7221?12

!'Instead of the Xn>12 reading (as the ‘some text’ have it) PPNV AR PHYIN MR 2" ,>"7 7727 PRONY2 7991 TR, it should
read (to avoid the s'R%3 question) D°P°ny2 AR 7HYI "7 1" 127 PPNV 1YY PR. Since the X3 does not say '"T19K!,
this indicates that initially the name of *"2 did not appear as the p"n of this Xn>"2.

2 See TN won X # 171.
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